=

% 4ejo] ohd 21 o= A

oo

@ 1000000000 @ 100000 £} 10000 HH
® 1000 T+2] 100 R @ 9K}t 19 = 5
@9999 grEchl 2 5

® 9999 TrH T} 1 & 4= 9999 TF 1 YT},




9 1480543210 < 23970465210

@ o @1 ® 2 @ 3 @4

2 480543210 < 23970465210 ©] Ao] A3}7] $13te] 10 1<)
2] 5742 v et 3 Kk A7t ook g




77

@ 7TA 30E QP11 A 20+

@ 34]

® 12A] 5%

@ 4A 258

7A 308, 44 258, 124] 55

oAt :




(1) 0.02 00101 |9 $YYrct.
(2) 0.007- 0.00101 [ ]9l 4yt

@2 @7 @ (1)2(2) 70 ® (1)20 (2) 7
@ (1) 20 (2) 70 ® (1) 0.2 (2) 0.7

(1) 0.02 = 0.012 ©|t}.

w2hA] 0.02+E 0.01°0] 2 Q1 FYch
(2)0.007 = 0.001 x 7 ©|t}.

w2hA 0.007 - 0.001 ©] 7 Q1 =Ytk




@mor@o02 @ @Wor@E)12 @ 1)1(2)02
@ (1)1(2)0.7 ® (1)1(2) 1.2

(1) 0.9-02=0.7
(2) 0.8-0.6 =02




)

ull
KO

24cm +3 = 8cm




=
o

fol Uebd uhel el m iy ok

5|
Y7t

o #ul)

A=

S
L H fio
L T e
<
|55 BN
o | W g \p
o X

Gy,

=
=

=

@ A=z

o1
Ho
ol

=0
Tor
)
——
fife)

Mo
el
of
®

BE104+8+54+7=30(F) ¥Yct




9] Ae] 5271 2, 9] A2l 747F 8, 0.1 9 2= £771 5, 0.01
o) 2] 527} 1 9 55 A2,

> E:

> =eh: 2851

20+ 8+ 0.5+ 0.01 = 28.51




9. EL/EA QE uFY £A} 13.32kg AUTh Wl vl Y o] 2
A7} 0.49kgolehH, L] AL kgQlA] F5FA L,

> E: kg

> & 1283kg

13.32 - 0.49 = 12.83(kg)




10. 7okA19] F7% 2.62kg ], o] o] FAE oA o] FAmch
6735 B 7HASU T obAlst moFele] B Fe & kg 917
Tt 2.

» = k

o

> HE . 456Tkg

673g = 0.673 kg
(2ol 9] FA)= 2.62 - 0.673 = 1.947(kg)
2.62 + 1.947 = 4.567(kg)




11.

AFZFg 9] theiA) 7t zte] 2]

360° — 90° — 75° — 115° = 80° 0| B.&
[ ]=180°-80°=100°¥UT}.




7k

(]
H

™

ol

olJ
OSS

1

al

HtH=

min
<
olJ
mK
ol

Far

AN

—_

Jas

9

11

A=

16
618

8
4=
® 18°

, 6
17

) 5_
18

10
18
8
18

@ 4
® 3

, 7
1

35_
18

10
18
10
18

D 4
@)3

©f A of A
d

o

)=
=5
H A
-

10
18

21 11
4— = (— —4— =
718 18 3

11
18

3
8~ _
18

bl Helghc,

45

A%




13.

Srofolis BRNA B 3 AL 750 Lol A, AF0] 4 $-8L 480
ol hgut o] EPHNA T4 10 Ak AFo] 5 H2-S Aelnl
Ak ok g7t

=t O_]

r= ~

>
> He 31009

B ~

A1 @9 gtol (750 + 3) Yol
o] 1 F29] gho] (480 + 4) YolB 2,
A 10 @Ol F2 (750 + 3 x 10) Yol
A Eo] 5 F-22] ghe (480 + 4 x 5) Yoltt.
33 10 At AFo] 5 Fo] e o2
(750 = 3 x 10) + (480 + 4 x 5) ©|c},
(750+3x10) + (480+4 x5)=3100 (%))
| —
250 120
2500 600
I —

3100

ofd 1 off

il

Sy




14. the o3 o) AASE Agatel £ ALY A A 48 HEAS
Utk F 59 Fol 71 & 47} HEE whEe] AT e T2

81519247

> &

[> e 832048

B ‘

e Aelo] £371 2 48 Fol A ER
o] 2o 2 48 3 Azttt

952 x 874 = 832048
954 x 872 = 831888
972 x 854 = 830088
974 x 852 = 829848




g 2ol 5 ARl 441 7k 1, o, 2, okl A2 Bee ), 2 G
EEFEEE RS

45)/ 1

A 3
55& o}

> ®eh: 115 °

~&B

5 7
45045)/ ]‘
/2 L]—

25

20° ) o
55° 35460°
. =5
/60 2

\55°
55 U}-

(Z+ @)=60°+55° = 115°




